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This Question Paper consists of 34 questions.
83 TBITEIODT), HLJND W FoweT ZRTT (ReTF)  [RTWENS.  TOF
T, BOLmndE BRo0308 Q) & FTS,Fob LoD ToIFTI FFOL (WS STOR),
DBWO TIFI F50TIeR. BT TS, FONY, D, RN QT 0T TOFRERY,
This question paper has been sealed by reverse jacket. You have to cut on the
right side to open the paper at the time of commencement of the examination

( Follow the arrow ). Do not cut the left side to open the paper. Check
whether all the pages of the question paper are intact.

BINOR BRLTT RRESMTR TOR.
Follow the instructions given against the questions.

WO mﬁa’@ﬁm%&w 903N @%ﬁ@ﬁd&d Tpeas @oﬁﬁeﬁa‘g{ ASN SV

Figures in the right hand margin indicate maximum marks for the question.
BIBGIODT,  LOIRYLO 15 JWANY  TORTTY  AOTOZ,  LUZOILD
AROTARORR 0TI, TFB,3oh BeTNTE, DRSNS,

The maximum time to answer the paper is given at the top of the question paper.
It includes 15 minutes for reading the question paper.

QR LFORLINTOT BIFE, T @I ( Version ) I I F[ReS TYTY,
BOY,FIINTOT T3 8,303 &3 & 00T SNTPYTIY, 59TOTRERY,

Ensure that, the Version of the question paper distributed to you and the
Version printed on your admission ticket is the same.
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I.

31 TONT JINOR P WTRr TeVINOR Towy SORRIR) VRN

SPYNED T, BRFRT LOITITY, @O, WTT T [RFITILODR Fpeor
LOZ TR, WD 10 x 1 =10

Four alternatives are given for each of the following questions /

incomplete statements. Choose the correct alternative and write the

complete answer along with its question number and alphabet :

1. A% R SOXRORMHR

(A) =oohow (B) em%é?oocs
(C) 5&‘2&9@@05 (D) @ox0,00T

Chassis is made of

(A) Wood (B) Steel

(C) Iron (D) Copper

2. BN NOPHRE T V0TI, YUTRHTH

0

(A)  Nex (B) &,89%3, 3o
(C) B0 Tex', (D) mFPe*

An example of liquid lubricant is

(A) Grease (B) Animal oil

(C) Aluminium paste (D) Graphite
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3.

QO 30T D SI DI

(A)

(€)

Nm ! (B) Nm

m (D) ms !

The SI unit of engine torque is

(A)

(C)

B4 PLITRY TITIT SRTF ST AR

(A)

(€)

Nm ! (B) Nm

m (D) ms !

34 oo (B) A&

2 OTF (D)  2T0CFLDO0O0EF

1>

The component that supports the weight of the vehicle is

(A)

(€)

Strut rod (B) Strut

Sprin D) Ball joint
pring ]

TR FREA* OFF T 3,300080 T
] ed

(A)

(B)

(C)

(D)

masws& RTLD DB WRIT FOR FOOF AW I T
BRET

MO T, TR, FRHO VAR WTT LIBRTIY, BUYATT

§0T 30T s BLINIRY 3R R

REDTTOT BT e B WReF NIFRY AT
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The main function of two-post lift is, it

(A) helps to lift the vehicle and work under the chassis
(B) increases the pressure of air by reducing its volume
(C) minimizes tyre vibration and bounce

(D) rotates the nut and bolt with accurate torque

6. m@mmd BRTINGO EASCS) IO BRI eﬁse)éﬁ%fo Jezoon

NVTOIRCNTOT TS
(A)  Soest (B) NeTR=
(C) S D) A

The device required for softer blows and metal sheets is
(A) Punch (B) Grease gun

(C) Mallet (D) Snips

7. %00 TRIBIT DT POT WBLROWRITN STOBOTLICTT BRT T
(A) RS ey 3300
(B) T TRRON &I WLV

(C) DT QT crafevble)

(D) AROBERT FFTY Fo0D) AQR OB Toge o %,05° T3
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The first step to be followed while changing the air filter of a

vehicle is

(A) Open the bonnet
(B) Clean the air filter housing
(C) Take out the air filter

(D) Park the car on ground level and apply the parking brake
8. BROOL WHRTE BREL B57,T00 SIIND

(A) T, W= A IT°

(B) Q0BT SOWN* ROBY BSOS QT

&

C) T, & A’uaﬁgwoe 2020 LT n%c;@me

~
(D) TR, 0T DO BRS® LR
The materials required to change the coolant are
(A) Pan and spanner

(B) Engine oil and oil filter

(C) Flat screw driver and Phillips screw driver

(D) Fuel filter and special tools
9.  LOW WTISTY, AOFS LT mzs;szs@d,

(A) éz&gﬁoqﬁs RO0TT* IR T2
(B) @zsws MY QOWT* W BReNOST

(C) 20PIT wS® émw nogs

(D) QOFIT IR FRFOIRMZT
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The clogged fuel filter in a vehicle

=

(A) Makes more fuel to flow inside the cylinder

(B) Allows more air to enter into the engine
(C) Increases the fuel pressure

(D) Reduces the fuel pressure

10. 20T TRBITY, QOFIT 0T BOLTIY, T TRTOT ¢VTTTEd

(A) 000 Hewss B) ax 37
(C) FRO® riees® (D) @z riees

The tool that measures the level of engine oil in a vehicle is

(A) Fuel gauge (B) Dip stick 3

(C) Pressure gauge (D) Depth gauge @i

II.  ZAEeE e3TR0R VYDHT FTER, 17oF TRE : 4x1=4

Fill in the blanks with suitable answer :

11. FRECFAET BT QOBWT® WIBI ..o SleSovelaloplpvial

A thermostat is placed between the engine and the ................ .

12, 98¢83 OINYY, F I B, 3° T WFROW NET* . :

The gear which is used for final drive in these days is ................. .

13. Q0BQYS ﬁerﬁd&z{ E9PS TRBLD cevveeneiineannnns mcﬁsw@{ WIRITIT.

The device used to measure the speed of an engine is ............... .

14. AO0TT® &FTT TOF,NTTY, ERTCDLO YVTOIRENTT YVTFTE ........ :

The tool used to create cylindrical holes is ................... .
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III. 15, ATENY SRR ofs «oIToony ¢oICeennes) <ons B-
Q%OSJQ, SRR R Wﬁ%dt’am’mq NCTERNG. @Qﬁ%‘aﬁ%{ RO
LOZTATRY, @mgcsmwa TR0 : 4xXx1=4
Uses of automobile tools are given in column-A and

automobile tools are given in column-B. Match them and
write the answer along with its letter of alphabet :

AT B-3¢3
Column-A Column-B
i) QRO cbd)d@ 200N @03633& a) gwmws
Y3 BRETT Hydrometer

Measures distance between two
opposite sides

i) ©& 3R ©OITNYSY QDTN SYoINTT  b) TR, e38° Tow* e

Precisely measures very small Pneumatic wrenches
distances

i) Spedees’, QWL WY BIBRGNI),  ¢) T, OTTE
CAdevenrcing Calipers
Measures voltage, current and
resistance

iv) @éo_'ild 71363?53552{ Sdevenicinl d) 53@%&3%366
Measures specific gravity Multimeter

e) T FOFW,AT°

Air compressor
) =R nest
)
Screw gauge
g Qe ?,ZT%Q?R;)GS
Wheel balancer
IV. 3:INIIT,INR 00 : 6x1=6

Answer the following questions :

16. ST LB rieT 2080 ROTHP WIS ReT NYTO WOt D, 3, BT SR,

Mention the difference between straight bevel gears and spiral
i

bevel gears.
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17.

18.

19.

20.

21.

TRWS @%@%Qﬁ&&g{ (IHP) mﬁma@%.
Define Indicated horsepower (IHP).
EpIesIaIo] @@@&JE&WS QN o3RRR) ?
What are the types of transmission of vehicle ?
N, ex° NS GUTOIRENEDI), 9.

Mention the use of grease gun.

WIBITY, DT QO T 98 QUTO3RENTOITIT ?

Air filter is used in a vehicle. Why ?

OBIT V0BT, BRG0LFT T TS, WICW0.

Write the functions of coolant in vehicle engine.

33 89NS 3ok o : 6% 2=12

Answer the following questions :

22.

23.

24.

25.

26.

27.

339, 08¢ TREL3D YO’ 23, LIAD.
Draw the diagram of Wankel rotary engine.
PO T TSI 28T,B[TY, WICWO.
Draw the diagram of Elliot stub axle.
&5 [ OR
TR, FOTT BY ST 1,30, WICWO.
S ~ L8
Draw the diagram of lamoine stub axle.
- -
DIT/IDTY, ALTWRTRITIN BO0WM, T2 F,WNTa), FRHRT &3 3.
E?
Precautions should be taken during washing of a vehicle. Why ?
Mo,3F WI0WOT WRODNG M9, TTON LTNRIT FeRN0 OBRR)R) 7

What are the services provided to the customers under customer
support ?

DIBIT ROTFD 33,337 030, FOTIETIHCL TP 23V 33,337 030TY VTOR.

Explain the "Sensitive air bag system" in vehicle safety system.
&5 [ OR

OTBIT FOTZZD stﬂ@@b@q Sleint 3@%3 NOTOETONE %Sﬂ@w&}% QDROX.

Explain the "Blind spot detection" in vehicle safety system.

DOBIT ROTFZD 33,337 030, CANTYTITTIR T, BLTTNTTY, WITCWO.

@ [ae]
Write any four innovations in vehicle safety system.
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VI 23903 33ner cvgon 4x3=12

Answer the following questions :

28.

29.

30.

31.

TINTC® WORT LPTLIN0T VOLMN,O° LRAT WPTL), TUF WRIBRONTSY
TROVT. F 7 JTJOA.

Integral frame chassis are more advantageous over conventional
frame chassis. Why ? Explain.

SEREAY ST BRI, B3 FTENI  LUTFTONT  FODFNTIY
W3O :

a) T FOFJ,AO°

b) Qe RS

Write the functions of the following automobile service tools.

(a) Air compressor
(b) Wheel balancer.

&5 [ OR
SEREAY ST ADFATY, B TINT  VTETNT  TORFNTI)
W30 :
a) SR LE TowNL
b)  TE Fpext OFF

Write the function of the following automobile service tools :
[OFE

(a) Pneumatic wrenches
(b) Two-post lift

=]

TR VOWWTT SO SE @5.3{ WBCRRTHD 0B L9I[IROILICFOT
aosmfmq TOD.

Write the procedure to be followed to change engine oil in a
vehicle.

SUERERRW 'S TRTIWMTD  ABFLAWETHT  030YTTTR 8T
TSEW,MTTY, DW[OR.

Explain any six duties performed by the automobile sales person.
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VIL. 3:3¢NST,3nen wwgda : 3x4=12

Answer the following questions :

32.

33.

83, 25° L30IOT 28T,BTY, WD, B3 FENT LRNNTIY, MOTOSY

ERAERE

a) méw"

b @@

0

Draw the diagram of tube tyre and label the following parts :
(@) Tube
(b)  Thread

&5 /OR

4R, W SRF 103 283, B, WSO BN YRrinva) MoSHSk :

a) m@;%‘%w
b) T

0

Draw the diagram of tubeless tyre and label the following parts :
(a) Valve cap

(b)  Thread.

SERESAY R, WIR DFeR VTFTD (IR L) NYRY, Te,
TNRR BB WINY mwoﬁmm@s@{ TO0.

List the special tools used in automobile and write their uses.
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B3 IPNT A QUTTTEINS mﬁoﬁmeﬁﬁ@é@{ Q30 :

d 2T

Write the uses of the following service tools :

(a) Spanner
(b) Hand hacksaw
(c) Bench vice

(d) Snips

34. Qe Wy, SEERE[RY,* Hew 3,8033N DNDISINEN Y Ten x&z:éﬁfa@méb@ ?

As an automobile service person, how do you wash the vehicle ?
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